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1 v[zl:8m8,gf[ hGd s. .p;pdf` yif[ ctf[p 

(A) 384 5kl (B) .p;p5}j[" 384 (C) .p;p 384 (D) Ê6[idf`yl v[s56 gcl\ 
 

2 jfzfcLdLcz[ sif\ u~\yf[ zRif M 

(A) a~ª:s]8Vb\0 bfws (B) v,L;\c V v, vsGÌ[ 

(C) Le<,df/VZldf/ (D) 5\rfL;ßf\LtsfVj'cT;\Lctf 
 

3 tfzf LjÈjyl ag[,]\ x]\ cf[I k[p 

(A) a~ªf\0 d\nfslgl (B) ;]5zs,:8z (C) vjsfxLj\0m (D) v[s56 gcl\ 
 

4 vf56l d\nfslgl 22 ,fb 5~sfxjqf" n}z vfj[,l _______  vf56l 50mx6 k[p 

(A) v[Gúmd[0f (B) ú[sf[ (C) Í5 Ljsfzl tfzfvf[ (D) n[jifgl d\nfLsgl 
 

5 bum/ Lj7fggf L5tf ;dfg v[8,[ _________ 

(A) u[,[L,im (B) s[%,z (C) PDdz b%ifd (D) LjL,id cqf", 
 

6 ŒŒhfulg[ hmP\ tm hutnl;[ gcl\4 a~ª ,8sf\ sz[ a~ª 5f;[CC gf zrLitf_____ 

(A) 5~[dfg\n (B) gzL;\c dc[tf (C) dlzf\af. (D) zd[x 5fz[b 
 

7 sif j{7fLgs[ uL6t vg[ bum/xf:Êgf[ ;dGji szl vfsfxl 5Lze~d/ vg[ uLtgf Lgid 

vf%if\ M 

(A) ef:szfrfi[" (B) a~ªu]%t (C) vfi"eç (D) LjzfcLdLcz 
 

8 glr[gf efztli bum/Ljn=mg[ ;di vg];fz s~Ldstfdf\ d}stf ;frl zrgf ______ k[p 

(A) (a) jzfcLdLcz (b) a~ªu]%t (c) vfi"eç Lßtli 

(B) (a) a~ªu]%t z (b) jzfcLdLc (c) vfi"eç Lßtli 

(C) (a) vfi"eç Lßtli (b) a~ªu]%t (c) jzfcLdLcz 
 

9 cjfdf\ 5~f6jfi]g]\ 5~df6 s[8,]\ cf[I k[p 

(A) 21 % (B) 78% (C) 19% (D) v[s56 gcl\ 
 

10 5'Yjlgl gÔs cjfgf jftfjz6g[ _______ sc[ k[p 

(A) vwmd\0/ (B) ÎWj"d\0/ (C) vfig d\0/ (D) a~ª d\0/ 
 

11 sRkg]\ z6gl ____________ 5~f6lvf[ df8[gf[ zc[9f6 Lj:tfz k[p 

(A) L;\c (B) gl,ufd (C) h\u,l uw[0f\ (D) 3m0f 

 
 



12 tfzfgl 5~sfLxttfg]\ sfz6 ________ jfi] k[p 

(A) vmLs;hg (B) cf.úmhg (C) LcL,id (D) sfa"g 
 

13 d'u g1fÊgm ezt gfdgm tfzm ;}i"df/fyl _____ u6m dm8m k[p 

(A) rfz;m (B) 5f\r;m (C) rfz  (D) vjfh  
 

14 xLg vg[ i]z[g;gl jRr[ gjm xmwfi[,m ,w]u~c ________ k[p 

(A) vfi"g (B) Lszmg (C) %,]8m (D) g[%Ri]g 
 

15 5'Yjl 5zg]\ sjr zrgfz jfi] ________ k[p 

(A) gf.åmhg (B) vmLs;hg (C) vmHmg (D) sfa"g 
 

16 ŒŒvf56l vf;5f;df\ zc[, ÖXiVvÖXi ;du~ h0Vr[tg hutCCVP5zmst JifBif ____ gl k[p 

(A) jftfjz6 (B) h,fjz6 (C) 5if"jz6 (D) 5'Yjl 
 

17 5if"jz6g[ d]BiTj[ s[8,f efudf` jc[rjfdf` vfj[ k[p 

(A) Ê6 (B) a[ (C) rfz (D) 5f\r 
 

18 jftfjz6df\ gf.åmhg jfi]g]\ 5~df6 _________8sf k[p 

(A) 20 (B) 90 (C) 78 (D) 100 
 

19 u\ws jftfjz6df\ __________  ;fy[ ;\if[hfi k[p 

(A) gf.åmhg  (B) vf[Ls;hg (C) Lc,lid (D) v[s56 gcl\ 
 

20 Œa~ª:s]8 L;›f\t’ bum/u~\y sf[6[ zRif[ ctf[ M 

(A) vfi"eç (B) a~ªu]%t  (C) jzfcLdLcz (D) s[%,z 
 

21 gf.åmhg u~c6 szgfzl jg:5Ltg]\ gfd ________ 

(A) gf.åmhglif (B) Lx\al (C) Lx\ul (D) ;Ôjf 
 

22 d'nfjz6gl ;z[zfx hf0f. _______ km k[p 

(A) 50 (B) 40 (C) 60 (D) 100 
 

23 Ljdfggf vjfhgl _________ 0[L;a, dfÊ k[p 

(A) 69 (B) 79 (C) 89 (D) v[s56 gcl\ 
 

24 zfhf ;jf. hiL;\c alhf sifgf\ zfhf ctf M 

(A) hi5]z (B) hf[w5]z  (C) Pn[i5]z (D) sf[8f 
 

25 jftfjz6df\ gf.åmhg jfi]g]\ 5~df6 _______ % k[p 

(A) 78 (B) 79 (C) 90 (D) 100 
 

26 j'qfe zfLxdf\ si]\ g1fÊ vfj[,]\ k[ M 

(A) hi[q9f (B) e}t5 (C) zf[Lc6l  (D) v[s56 gcl\ 
 

27 ____________ wft]\ Ëni zf[u df8[ hjfa nfz k[p 

(A) 5fzm (B) ,l\;] (C) s[0[dlid (D) vf5[, awf 
 

28 vwmd\0/gl ,\af. Ljqf]jj'ÿfgl P5z _______ km k[p 

(A) 10 km (B) 11 km (C) 18 km (D) 19 km 
 

29 jqf" 1997df\ efztgf h]nf h]nf :y/mv[ cjfdf\ tztf afzls zhs6mgf 5~df6gl dfÊf 08 :y/m 

P5z ______ yl jw] ctlp 

(A) 400 yl jw] (B) 300 yl jw] (C) 200 (D) 100 
 

30 jz;fngf 5~df6 vg[ h\u,gl j'L›gm ;\a\w ______ k[p 

(A) vf\tz 5~Ls~ifgm ;\a\w (B) Ljz]› ;\a\w 

(C) vfwfLzt ;\a\w (D) vfdf\yl v[s56 gcl\ 
 

31 ŒÔjtf u~c’ tzls[ sif[ u~c vf[/bfi k[ M 

(A) a]w  (B) xLg (C) r\Ì (D) 5'Yjl 
 

32 5]Btjigl nz[s JiLstg[ ;z[zfx _______ %if,f v[8,[ s[ v-l ,l8z 5f6l 5lj]\ hm.v[p 

(A) vLuifz (B) afz (C) n; (D) t[z 
 

33 z\u4 z;fi6m4 sf504 ,mb\0 ju[z[ h[jf PNmum ______ 5~n}qf6gf 5~;fzsm k[p 

(A) h/5~n}qf6 (B) hdlg 5~n}qf6 (C) cjf 5~n}qf6 (D) vjfh 5~n}qf6 

 
 



34 DNA df\ s[8,f 5~sfzgf v[Ldgf[ v[L;0 uf[9jfi[,f cf[I k[ M 

(A) 22 (B) 28 (C) 24 (D) 23 
 

35 dfgjlgf sfggl vjfh ;f\e/jfgl 1fdtf jw]df\ jw] _______ 0[L;a, k[p 

(A) 100 (B) 96 (C) 80 (D) 85 
 

36 zf;fiL6s bftzmgf j5zfxyl ______ 5~n}qf6 o[,fi k[p 

(A) hdlg  (B) cjf  (C) vjfh  (D) vf5[, awf 
 

37 ______ wft] Lr\tf4 Pnf;l4 s\5g h[jf zmum df8[ hjfanfz k[p 

(A) Ldyf., (B) 5fzm (C) ;l;]\ (D) vfdf\yl v[s56 gcl\ 
 

38 _____ 5nfy"g]\ Lj38g yt]\ gylp 

(A) 3f; (B) %,f:8ls (C) sfu/ (D) kf6 
 

39 efztdf\ 5f6lyl 3mjf. htl hdlgg]\ jfLqf"s ;zf;zl 5~df6 ______ 8g 5~Lt c[s8z k[p 

(A) 16.32 8g (B) 12 8g (C) 16.35 8g (D) 15.35 8g 
 

40 ;f{ 5~yd dfk,lgf[ hGd s[8,f jqf" 5}j" yif[ ctf[ M 

(A) 52 szf[0 (B) 42 szf[0 (C) 51 szf[0 (D) 64 szf[0 
 

41 (1) hzf hzfdf\ rl0f. hj]4 (2) Wifg s[LGÌt g y. xsj]\4 (3) Lg6"i xLstdf\ 38f0m yjm4 (4) 

vf\bgl hmjfgl xLstdf\ 25% 38f0m yjm P5zmst ,1f6m _______ 5~n}qf6gl v;zm :jÍ5[ k[p 

(A) cjf  (B) hdlg  (C) 5f6l (D) vjfh  
 

42 .sf[,mÔgl h[jl Lj7fggl xfbfdf\ x[gf[ vEif; szjfdf\ vfj[ k[ M 

(A) jg:5Lt (B) 5~f6lvf[ (C) 51flvf[ (D) (a) & (b) 
 

43 LjLsz64 5jg4 5f6l vg[ Pq6tfdfggf o[zofzmg[ sfz6[ t[dh h{Ljs s[ zf;fiL6s Ls~ifvmgf 

sfz6[ b0sm t}8[ k[p  

(A) zrgf (B) v51i (C) o[zofz (D) z1f6 
 

44 Ls~if[g jfi] x[df\ j5zfi k[ M 

(A) v[p;lp (B) ,f.8z (C) z[o~lhz[8z (D) vf5[,f awf h 
 

45 (1) jg:5Lt vg[ 5~f6l j:tlvm v[s alhf ;fy[ vf\tz5~Ls~if sz[ k[ (2) h{Ljs 38sm vh{Ljs 

38sm ;fy[ vf\tz5~Ls~if sz[ k[ vg[ ;dt],f hf/jl zfb[ k[p (3) h]nf h]nf ;Ôjm h]nl h]nl zlt[ 

t[dgl Îhf" 5~f%t sz[ k[p (4) nz[s jg:5Lt vg[ 5~f6lgl ytl Lgj;t\Êdf\ vuTigm efu ehj[ 

k[p  

P5zmst ,1f6m v[ _______ t\Êgl ,f1fL6stf k[p 

(A) sfa"grs~ (B) Lgj;gt\Ê (C) 5~hggt\Ê (D) vfdf\yl v[s56 gLc 
 

46 vfigd\0/gf :tzdf\ _________ LjN]tefz wzfjtf s6m vfj[,f k[p 

(A) K6 (B) wg (C) t8:y (D) v[s56 gcl\ 
 

47 hd"g Ôjj{7fLgs v[g[":8c[s[,[ ;f{ 5~yd sif[ xAngf[ P5if[u 5LzL:yLt Ljwf df8[ sif["M 

(A) .sf[L;:8d (B) .sf[,mÔ (C) c[,l8f8 (D) vf5[,f awf h 
 

48 5~yd :tzdf\ e1fsmdf\ sf[gf[ ;dfj[x yfi k[ M 

(A) jfw (B) df[z (C) uw[0m (D) ufi 
 

49 ;]1dÔ3jf[ s[ ;Ôjmgf d/Vd}Êdf\ sim 38s hf[jf d/[ k[ M 

(A) v[df[Lgif (B) Ldy[g (C) v[df[Lgid gf.åf.0 (D) (a) vg[ (c) 
 

50 d\nfslglvmgf vfsfzg[ vfwfz[ _______ 5~sfz k[p 

(A) rfz  (B) Ê6 (C) a[ (D) 5f\r 
 

 

 

 

_____________________
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1 efztdf\ nz c[s8z[ __________  u~fd 5fsz1fs njfvf[ j5zfi k[p 

(A) 500 u~fd (B) 400 u~fd (C) 550 u~fd (D) 450 u~fd 
 

2 ;\i]st zfqå;\3gf v\nfh 5~df6[ Ljsf;xl, n[xmdf\ nz jqf"[ ________ ,msm 5fs ;z\1fs njfvf[gl 

H[zl v;zmg[ sfz6[ d'Ti] 5fd[ k[p 

(A) 40,000 (B) 30,000 (C) 10,000 (D) 25,000 
 

3 5'Yjl 5z zc[, x]ê 5f6ldf\yl 75% efu w~]j 5~n[xmdf\ ______ Í5[ cf[i k[p 

(A) azo (B) Lcdgnl (C) aGg[ (D) v[s56 gcl\ 
 

4 sm.56 5nfy"g[ Î\r[ ,. hjfyl t[gfdf\ xLst 5[nf szjfgl tfsft vfjl hfi k[4 vf 38gf 

______ Lgidfg];fz xsi ag[ k[p 

(A) Gi}8ggm Lgid (B) uLtgm Lgid 

(C) Îhf"gm Lgid (D) u]z]Tjfsqf"6gm Lgid 
 

5 h{j zf;fiL6s 5~Ls~ifvm ßfzf d/tl Îhf" ______ yl vm/bfi k[ M 

(A) ;f{z zf;fiL6s Îhf" (B) ef{Lts Îhf" (C) Pqdf Îhf" (D) vf5[, v[s56 gcl\ 
 

6 vjfhgl 3~]hf8ldf\yl d/tl xLstg[ _______ Îhf" sc[ k[p 

(A) ;f{z Îhf" (B) WjLg Îhf" (C) afim Îhf" (D) z;fi6 Îhf" 
 

7 3zdf\ Lnj; nzDifg _____ D.B. yl jw] tlj~tf wzfjtm vjfh vif[Ui k[p 

(A) 35 (B) 30 (C) 10 (D) 15 
 

8 3zdf\ zfÊl nzDifg _______ D.B. yl jw] tlj~tf wzfjtm vjfh vimUi k[p 

(A) 35 (B) 30 (C) 10 (D) 25 
 

9 1 kg sm,;fdf\ vfxz[ ________ i]Lg8 Îhf" cmi k[p 

(A) 6 (B) 4 (C) 7 (D) 5 
 

10 ;}i"gl 5~sfx xLstg[ 5'Yjl 5z zf;fiL6s xLstdf\ Í5f\tz szgfz 5Lza/ ______ k[p 

(A) ,l,l jg:5Lt (B) h/ (C) cjf  (D) 5~f6lvm 
 

11 5~fyLds PT5fnsmyl vfz\e y. t[ 5~yd gfgf sngf P5emstfvmgm vfcfz ag[ k[ 5kl t[ dm8f 

sngf P5emstfvmgm Lxsfz ag[ k[p P5zmst vfcfz x'\b,f _______ k[p 

(A) 5zm5Ôjl x'\b,f (B) LxsfzlVvfcfz x'\b,f 

(C) d'tm5Ôjl x'\b,f (D) vf5[, awl h x'\b,f 
 

12 vfw]Lgs b[tldf\ df[8f 5~df6[ ________ zf;fiL6s bftzm j5zfi k[p 

(A) gf.åmhg (B) om:oz; (C) aGg[ (D) v[s56 gcl\ 
 



13 vfhyl 200 jqf" 5c[,f\ h[D;[jf[8[[ ______ yl rf,t]\ v[GÔg agfJi]\p 

(A) jzf/yl (B) sf[,;fyl (C) jlh/lyl  (D) 5[åm,yl 
 

14 ;}i"s]sz v[ ________ sz[ k[p 

(A) Îhf" art (B) Îhf"gm j5zfx (C) Îhf"gm vj5zfx (D) vfdf\yl v[s56 gcl\ 
 

15 5zdf6]\ af[Da tyf 5zdf6] eÚldf\ ________ tTjm j5zfi k[p 

(A) i]z[glid (B) %,]8mLgid (C) YfmLzid (D) P5zgf Ê6[i 
 

16 z[0mg jfi]gl dfgjlgf xzlzgf sif\ efudf\ s[G;z yjfgl n[cxt zc[ k[p 

(A) 5[8 (B) o[o;f (C) aGg[ (D) v[s56 gcl\ 
 

17 .Ô%tdf\ 1960gl ;f,df\ gf., gnl 5z 114 dl8z P\rm 0[d a\wfim t[g]\ gfd ______ k[p 

(A) gfufh]"g (B) vf:jfg (C) gd"nf (D) efbzf gf\u, 
 

18 j:tl Lj:om84 Lx1f64 hfu'Lt vg[ ;dh6gm vefj4 Ljs<5m vmkf k[ vg[ Jijcfz] h6ftf gyl4 jw] 

PT5fg d[/jj]\ ju[z[ afatm 5if"jz6gf 5~Ègm Ps[,jfdf\ ______ sz[ k[p 

(A) dnn  (B) vjzmw  (C) t8:y (D) vfdf\yl v[s56 gcl\ 
 

19 sfa"g 0fims;f.0g]\ 5~df6 vTifz[ ______ 8sfgf\ jfLqf"s nz[ jftfjz6df\ jwl zËf]\ k[p 

(A) 0.2 (B) 0.4 (C) 0.6 (D) 0.8 
 

20 efztgf[ s], ef{umL,s Lj:tfz _______ ,fb c[s8z k[p  

(A) 3290 (B) 3280 (C) 3285 (D) 3295 
 

21 hdlggf\ v[s dlp dlp :tzg[ agtf\ _________ jqf" ,fu[ k[p 

(A) 50 (B) 200 (C) 150 (D) 100 
 

22 v[s ;j["1f6 vg];fz 5'Yjl 5z __________ Lj:tfzdf\ 38f8m5 h\u,m ctfp 

(A) 10 szm0 c[s8z (B) afz vah 81 szm0 c[s8z 

(C) vLiufz vha c[s8z (D) afz vah v[\;l szm0 c[s8z 
 

23 hGdnz4 d'Ti]nz4 j'L›nz4 j:tlgl ulrtf4 :y/f\tz ju[z[ h[jf 5Lzdf6m ______ gf vEif; szjf 

hÍzl ag[ k[p 

(A) j:tl (B) 5'Yjl 5z dfgjl vg[ 5~f6l (C) ef{Lts tTjm (D) vf5[, awf h 
 

24 Îhf" afat[ dgmz\hs ;:tl 5]L:tsfvm _________ ßfzf 5~sfLxt szjfdf\ vfjl k[p 

(A) dfgjd\Êf,i (B) u]hzft Îhf" Ljsf; ;\:yfVh[0f4 j0mnzf 

(C) u]hzft d\Êf,i (D) j0f5~wfg 
 

25 sf8]"g LrÊm4 sm9f4 rf8="I ju[z[gl zrgf v[ _______ 5~j'Lÿfvm k[p 

(A) x{1fL6s (B) ;f\:s'Lts (C) zdtudt  (D) 5i"8g 
 

26 zfqåli 5if"jz6 LåAi]g, v\u[gm sfinm _______ df\ vd,df\ vfJimp  

(A) 1997 (B) 1994 (C) 1995 (D) 1989 
 

27 5~frlg :dfzsm vg[ :yf5Tim t[dh t[gf vjzmwm v\u[gm sfinm _______ df\ aGimp 

(A) 1987 (B) 1958 (C) 1927 (D) 1980 
 

28 z[Loòhz[8z vg[ v[zsLG0xgz df\yl sif[\ jfi] acfz gls/[ k[p 

(A) sfa"g 0fif[;f.0 (B) v[df[Lgif (C) s,mzm o,mzm sfa"g (D) v[s56 gcl\ 
 

29 Îhf" L5zfdl0gf nz[s 5mqfs :tz P5z htf\ t[ ________ hfi k[p 

(A) jwtl (B) g jw[ s[ g 38[ (C) 38tl (D) 5c[,f\ jw[ 5kl 38[ 
 

30 5if"jz6 afat[ sfinf 30jfg]\4 glLt Ljqfis 9zfjm szjfg]\4 5if"jz6g]\ htg szjfg]\ vg[ sfinfvmgm 

vd, szfjjf afat[ ________ d\Êf,i sfi"zt k[p 

(A) Lx1f6 d\Êf,i (B) zfái d\Êf,i (C) dfgj d\Êf,i (D) jg vg[ 5if"jz6 
 

31 5if"jz6gm 5~Èg Ps[,jf ________ gl hfu'Lÿf hÍzl k[p 

(A) dfgj  (B) Lx1f6 (C) jGi (D) (a) vg[ (c) a\g[ 
 

32 vb}8 Îhf":Êmtg]\ alh] gfd ________ k[p 

(A) c\d[xf v5~f%i (B) 5]gO5~f%i (C) 5]gOv5~f%i (D) vf5[, (b) vg[ (c) 
 

33 u~ls xAn 0f.g[;l;gm vy" _________ v[jm yfi k[p 

(A) uLt (B) 5~uLt (C) vwmuLt (D) PWj"uLt 

 
 



34 d'tm5Ôjl vfcfz x'\b,fdf\ vfz\e _________ yl yfi k[p 

(A) d't vg[ smcjftf 5nfy"yl (B) ;Ôjmyl (C) 3f;yl (D) 51flvmyl 
 

35 s50fVjf;6 wf[jf df8[ jjzftf ;fa]df\_______cf[I k[p 

(A) s[L<xid (B) om:o[8 (C) 5m8[Lxid (D) v[s56 gcl\ 
 

36 zLxifv[ LjN]t 5[nf sztl 5c[,l 5zdf6]\ eÚl s. ;f,df\ :yf5lp 

(A) 1950 (B) 1955 (C) 1900 (D) 1954 
 

37 zfqåli 5if"jz6 LåAi]g, v\u[gm sfinm _______ df\ vd,df\ vfJimp  

(A) 1997 (B) 1994 (C) 1995 (D) 1989 
 

38 rl5sm vf\nm,g _______ arfj ;fy[ ;\s/fi[, k[p 

(A) j'1fm arfjm (B) h/ arfjm (C) dg]qi arfjm (D) (b) vg[ (c) a\g[ 
 

39 NCEPC – National committee on environment and planning and co-ordination gl zrgf _____ df\ y.p 

(A) .p;p 1969 (B) .p;p 1970 (C) 1971 (D) 1975 
 

40 t[hfal jqff" df8[ hjfanfz jfi]v[ _______ k[p 

(A) sfa"g vg[ Ldy[g (B) ;<oz 0fims;f.0 vg[ gf.åmhg vms;f.0 

(C) gf.åmhg vg[ sfa"g (D) vfdf\yl v[s56 gcl\ 
 

41 azo 5lu/jfyl nLzifgl ;5f8ldf\ _______ jwfzm yfi k[p 

(A) 20 yl 140 ;[dl (B) 20 yl 100 ;[dl (C) 25 yl 75 ;[dl (D) 150 cm 
 

42 ;\:yfgf L5zfdl0df\ h[d h[d P5z h.v[ t[d t[d nz[s :tz[ Ôjmgl ;\Bif _______ yfi k[p 

(A) jwtl (B) 38tl (C) v[s;zbl (D) v:yfil 
 

43 u~lgcfP;gm ;fnm vy" _______ k[p 

(A) vfdf\yl v[s56 gcl\ (B) ,l,f 3zgl v;z (C) ,l,]\3z (D) km0 Pk[z u'c 
 

44 e}Vtf5li Îhf" _______ g]\ Pnfcz6 k[p 

(A) vb}8 (B) b}8l hgfzl 

(C) ym0f ;didf\ b}8l hgfzl (D) 100 jqf[" b}8l hgfzl 
 

45 1 Ls,m jm8 jlh/l artgm br" ________ Ífp h[8,m yfip 

(A) 500yl jwfz[ (B) 1000 yl 2000 (C) 1000 yl 4000 (D) 1000 yl 1500 
 

46 Íd cl8zgl hUifv[ :j[8z jf5zj]\ v[ _______ gl sfi"n1ftf k[p 

(A) P5imu (B) j5zfx (C) br" (D) s\h};f. 
 

47 Îhf"g]\ ;h"g s[ gfx xsi gyl4 dfÊ Í5f\tz h y. xs[ k[p vf Pqdf uLtxf:Êgm ____ Lgid k[p 

(A) 5c[,m (B) alhm (C) Êlhm (D) vfdf\yl v[s56 gcl\ 
 

48 .p;p _________ df\ nLzif. ;\xmwg ;\:yf L:s%;gf j{7fLgs rf<;" 0lp sl,l\u[ h6fJi]\ ct]\ s[ 

jftfjz6df\ jwl zc[,f sfa"g 0fif[s;f.0gf 5~df6[ 5'Yjlg]\ tf5dfg jwfi]"\ k[p 

(A) 1958 (B) 1968 (C) 1978 (D) 1988 
 

49 h/ ;\5Ltg]\ dfÊ _________  8sf x]ê 5f6l e}ue" h/ Í5[ dfgjlgl vfjXistf 5}zl szjf 

5~f%i k[p 
(A) 0.63 yl 0.66 (B) 0.60 yl 0.62 (C) 0.58 yl 0.60 (D) v[s56 gcl\ 

 

50 jw] 5f6lg[ sfz6[ hdlgdf\ 5f6lgf t/ Î\rf vfjtf\ hdlgf[ ________ d]st aglg[ gsfdl y. 

u. k[p 

(A) v[L;0 (B) a[.H (C) 1ffz (D) v[s56 gcl\ 
 

 

 

 

_______________ 


